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Ario bought a sandwich for £2.30 and crisps for 80p..
He paid wiha £5 ot
Howmuch change G he get?

230
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Warwick Castle

Aduts-£12.55

Children-£6.50

Family scker - £35
s s 2
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“Trinity has these coins in her purse.
‘She spends £1.50.
How much money does she have left?
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Tegan wants to buy a book for £3.55 and a pencil case for £1.65.
‘She has £5. How much more money does she need?

Archie and Ethan are having lunch at a café.
Archie has chicken and chips. Ethan has 2 pizza.

How much more doss Archie have fo pay than Ethan?

Chicken

Hotdog 2150

Pizza 350

Skye gets a burger and potato wedges. Burger 278

She pays with a £10 not.

et Pasta 350
How much change does she get?

PotatoWedges  85p

Peas 5p

I
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 much more to make £17
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Write how much money there is in each box.
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